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b 110 (%) (%) = % i % i % iii The distribution is positively skewed.
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EXERCISE 23D.2 P(x;) | 0.0001 | 0.0015 | 0.0154 | 0.0819
1 a The binomial distribution applies, as tossing a coin has two z; 4 5 6
[e)‘(:::;bl)ethoelrltg);?es (H or T) and each toss is independent of P(z;) | 0.2458 | 0.3932 | 0.2621
b The binomial distribution applies, as this is equivalent to .
tossing one coin 100 times. probability
¢ The binomial distribution applies as we can draw out a red 04
or a blue marble with the same chances each time. 0.3
d The binomial distribution does not apply as the result of each 0.2
draw is dependent upon the results of previous draws. 0.1
e The binomial distribution does not apply, assuming that ten -~
bolts are drawn without replacement. We do not have a 0 1 2 3 4 5 6 T

repetition of independent trials. iii The distribution is negatively skewed and is the exact

a ~0.0305 b ~0.265 3 ~0.000864 reflection of b.
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b ~0.00246 ¢ = 0.131 d ~0.710
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P(z;) | 0.0156 | 0.0938 | 0.2344 | 0.3125

6 a £7 b No, she would lose £1 per game in the long run.
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